
(2-75-16-0119)J-0529(TR) 4 J-0529(TR) P.T.O.

Roll No. ....................... Exam Code : J-19

Subject Code—0529

M. Com. (First Year) EXAMINATION

(Batch 2009-2017)

ECONOMIC ANALYSIS

MC-104

Time : 3 Hours Maximum Marks : 70

Section A

[k.M ^v*

Note : Attempt any Seven questions. 7×5=35

fdUgha lkr iz'uksa ds mÙkj nhft, A

1. What is production possibility curve and how

is it related to opportunity cost ?

mriknu laHkkO;rk oØ D;k gS rFkk ;g volj

ykxr ls dSls lacaf/r gS \

Or  (vFkok)

Explain consumer equilibrium using

indifference curve analysis. State the Slutsky

theorem and derive a demand curve using

indifference curve analysis.

mnklhu oØ fo'ys"k.k ds iz;ksx }kjk miHkksDrk

larqyu dh O;k[;k dhft, A LyLdh izes; dk

o.kZu dhft, rFkk mnklhu oØ fo'ys"k.k ds iz;ksx

}kjk ek¡x oØ O;qRiUu dhft, A

12. What is the relationship between a firm's total

revenue, profit and total cost ? Give an

example of an opportunity cost that an

accountant might not count as a cost. Why

would the accountant ignore this cost ? 12

fdlh iQeZ ds dqy vkxe] ykHk rFkk dqy ykxr

esa D;k lEcU/ gS \ volj ykxr dk ,d

mnkgj.k nhft, ftls ,d ys[kkdkj ykxr ds :i

esa ugha fxu ldrk gS \ ys[kkdkj dks bl ykxr

dk vuns[kk dSls djuk pkfg, \
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2. What is equi-marginal utility appraoch ?

le&lhekUr mi;ksfxrk mikxe D;k gS \

3. What is water diamond paradox ?

ty ghjk fojks/kHkkl D;k gS \

4. What is Veblen effect and Bandawagon effect ?

oscyu izHkko rFkk cSUMkoSxu izHkko D;k gS \

5. How consumer choice making effected by risk

and uncertainty ?

dSls miHkksDrk dh ilan tksf[ke rFkk vfuf'prrk
ls izHkkfor gksrh gS \

6. Is the supply curve of monopolist exist ?

Comment.

D;k ,dkf/dkj dh iwfrZ oØ ekStwn gS \ leh{kk
dhft, A

7. What is cost push inflation ?

ykxr /Ddk LiQhfr D;k gS \

8. What factors responsible for demand pull

inflation ?

ek¡x ¯[kpko LiQhfr ds fy, dkSuls dkjd mÙkjnk;h
gSa \

9. What is difference between GDP and GNP ?

GDP rFkk GNP esa D;k varj gS \

10. What is business cycle ?

O;kikj pØ D;k gS \

Section B

[k.M ^c*

Note : Attempt all questions.

lHkh iz'uksa ds mÙkj nhft, A

11. Explain, how a seller can determine whether

the demand for his or her good is inelastic,

elastic or unit elastic between two prices. Prove

that price elasticity of demand is not the same

as the slope of a demand curve. 12

le>kb, fd foØsrk ;g dSls fu/kZfjr dj ldrk

gS fd mldh dherksa esa nks ;k nks ds chp

csykspnkj] ykspnkj ;k bdkbZ ykspnkj gS A fl¼

dhft, fd ek¡x dh dher yksp ek¡x oØ ds

<yku dh rjg ugha gS A
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Or  (vFkok)

Explain, how perfect competitive firm make

its price and output decision in short run and

long run ? Why study the theory of perfect

competition if not real-world market completely

satisfies all of the theory's assumptions ?

crkb, fd dSls iw.kZ izfr;ksxh iQeZ vYidky rFkk
nh?kZdky esa viuh dher vkSj vkmViqV (vkxe)
dk fu.kZ; ys ldrh gS \ ;fn dksbZ okLrfod
fo'o cktkj fl¼kUr dh lHkh ekU;rkvksa dks iwjh
rjg ls larq"V ugha djrk gS rks iw.kZ izfr;ksfxrk ds

fl¼kUr dk vè;;u D;ksa djsa \

13. What is the difference between intermediate

and final goods and services ? In which of

these categories do capital goods, such as

factories and machines, fall ? Why is the

distrinction between interemdiate and final

goods important for measuring GDP ? 11

eè;orhZ vkSj vfUre eky vkSj lsokvksa ds chp

D;k varj gS \ fdu Jsf.k;ksa esa iw¡th eky tSls

iSQDVfj;k¡ vkSj e'khuksa esa fxjkoV vkrh gS \ GDP

ekius ds fy, eè;orhZ rFkk vfUre eky ds chp

vUrj egÙoiw.kZ gS \

Or  (vFkok)

How you distinguish between overall

government budget deficit, fiscal deficit,

revenue deficit and the primary deficit ? Why

are these deficit concepts needed ?

vki lexz ljdkjh ctV ?kkVs] jktdks"kh; ?kkVs]

jktLo ?kkVs vkSj izkFkfed ?kkVs ds chp dSls varj

djsaxs \ bu ?kkVksa dh vo/kj.kkvksa dh vko';drk

D;k gSa \
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